

NAME: PRECIOUS TIMOTHY NTAMU

MATRIC NO: 19/MH501/261

COLLEGE: MHS

DEPARTMENT: MBOSS

Handwritten mathematical notes on the right side of the page, including:
 $11 - = 22 - 88$
 $11 - = 22 - (8 -)8$
 $11 - = 22 - p -$
 $p + 11 - = 22 -$
 $8 - = 22 -$
 $1 = 0$

Handwritten mathematical notes on the right side of the page, including:
 $2 - 8 - 2 = A$
 $1 - (8 -) - 0 = A$
 $p = A$

Handwritten mathematical notes in the middle of the page, including:
 $1 + 2 + 4 = 22 - 88 - 22$
 $(2+3) (2-3) (2+1) (2+3) (2-3) (2+1)$

Handwritten mathematical notes in the middle of the page, including:
 $(2+3) (2-3) (2+1) (2+3) (2-3) (2+1)$
 $(2+3) (2-3) (2+1) (2+3) (2-3) (2+1)$

Handwritten mathematical notes at the bottom of the page, including:
 $(2+3) (2-3) (2+1) (2+3) (2-3) (2+1)$
 $(2+3) (2-3) (2+1) (2+3) (2-3) (2+1)$

$$1. \int \frac{11-3x}{x^2+2x-3}$$

$$x^2 + 2x - 3 = (x-1)(x+3)$$

$$\int \frac{11-3x}{(x-1)(x+3)} dx = \frac{A}{x-1} + \frac{B}{x+3}$$

$$\int \frac{11-3x}{(x-1)(x+3)} = \frac{A(x+3)}{(x-1)(x+3)} + \frac{B(x-1)}{(x-1)(x+3)}$$

$$11-3x = Ax+3A + Bx-B$$

$$11-3x = Ax + Bx + 3A - B$$

$$11-3x = x(A+B) + 3A - B$$

$$A+B = -3$$

$$\begin{array}{r} +3A - B = 11 \\ \hline 4A = 8 \\ A = 2 \end{array}$$

$$A = 2$$

$$A+B = -3$$

$$2+B = -3$$

$$B = -5$$

$$\frac{11-3x}{(x-1)(x+3)} = \frac{2}{x-1} + \frac{-5}{x+3}$$

$$\int \frac{11-3x}{(x-1)(x+3)} dx = \int \frac{2}{x-1} dx + \int \frac{-5}{x+3} dx$$

$$\int \frac{11-3x}{(x-1)(x+3)} = 2 \ln|x-1| - 5 \ln|x+3| + C$$

2.
$$\int \frac{4x-16}{x^2-2x-3}$$

$$x^2-2x-3 = (x+1)(x-3)$$
$$\int \frac{4x-16}{x^2-2x-3} = \int \frac{4x-16}{(x+1)(x-3)}$$

$$\frac{4x-16}{(x+1)(x-3)} = \frac{A}{x+1} + \frac{B}{x-3}$$

$$\frac{4x-16}{(x+1)(x-3)} = \frac{A(x-3) + B(x+1)}{(x+1)(x-3)}$$

$$4x-16 = Ax-3A + Bx+B$$

$$4x-16 = Ax + Bx - 3A + B$$

$$4x-16 = x(A+B) - 3A + B$$

$$A+B = 4$$

$$-3A+B = -16$$

$$\frac{4A}{4} = \frac{20}{4}$$

$$A = 5$$

$$A+B = 4$$

$$5+B = 4$$

$$B = -1$$

$$\int \frac{4x-16}{(x+1)(x-3)} dx = \int \frac{5}{x+1} dx + \int \frac{-1}{x-3} dx$$

$$\int \frac{4x-16}{(x+1)(x-3)} dx =$$

$$\int \frac{4x-16}{(x+1)(x-3)} dx = 5 \ln(x+1) - \ln(x-3) + C$$

3. $\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$2x^2 - 9x - 35 = A[x^2 + x - 6] + B[x^2 + 4x + 3] + C[x^2 - x - 2]$$

$$2x^2 - 9x - 35 = Ax^2 + Ax - 6A + Bx^2 + 4Bx + 3B + Cx^2 - Cx - 2C$$

$$2x^2 - 9x - 35 = Ax^2 + Bx^2 + Cx^2 + Ax + 4Bx - Cx - 6A + 3B - 2C$$

$$2x^2 - 9x - 35 = x^2[A+B+C] + x[A+4B-C] - 6A + 3B - 2C$$

$$2x^2 - 9x - 35 = x^2[A+B+C] + x[A+4B-C] - 6A + 3B - 2C$$

$$A + B + C = 2 \quad \text{--- eqn (1)}$$

$$A + 4B - C = -9 \quad \text{--- eqn (2)}$$

$$-6A + 3B - 2C = -35 \quad \text{--- eqn (3)}$$

$$A = 2 - B - C \quad \text{--- eqn (4)}$$

$$A + 4B - C = -9$$

$$2 - B - C + 4B - C = -9$$

$$3B - 2C = -11 \quad \text{--- eqn (5)}$$

$$-6A + 3B - 2C = -35$$

$$-6[2 - B - C] + 3B - 2C = -35$$

$$-12 + 6B + 6C + 3B - 2C = -35$$

$$9B + 4C = -23 \quad \text{--- eqn (6)}$$

$$\text{eqn (5) } \times 3$$

$$3B - 2C = -11 \times 3$$

$$9B + 4C = -23 \times 2$$

$$12B - 8C = -44$$

$$18B + 8C = -46$$

$$\frac{308}{30} = \frac{-90}{30}$$

$$B = -3$$

$$8B - 2C = -11$$

$$3(-3) - 2C = -11$$

$$-9 - 2C = -11$$

$$-2C = -11 + 9$$

$$\underline{-2C = -2}$$

$$\underline{-2} \quad \underline{-2}$$

$$C = 1$$

$$A = 2 - B - C$$

$$A = 2 - (-3) - 1$$

$$A = 4$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{4}{x+1} + \frac{-3}{x-2} + \frac{1}{x+3}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = \int \frac{4}{x+1} dx + \int \frac{-3}{x-2} dx + \int \frac{1}{x+3} dx$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} dx = 4 \ln|x+1| - 3 \ln|x-2| + \ln|x+3| + C$$